Tableaux des Puissances de Dix (B)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (B) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,0001 0,001 0,1 0,01
44 0,0044 0,044 4,4 0,44
35 0,0035 0,035 3,5 0,35
94 0,0094 0,094 9,4 0,94
90 0,009 0,09 9 0,9

75 0,0075 0,075 7,5 0,75
X 0,0001 0,01 0,1 0,001
51 0,0051 0,51 5,1 0,051
8 0,0008 0,08 0,8 0,008
93 0,0093 0,93 9,3 0,093
19 0,0019 0,19 1,9 0,019
52 0,0052 0,52 5,2 0,052
X 0,01 0,1 0,0001 0,001
32 0,32 3,2 0,0032 0,032
15 0,15 1,5 0,0015 0,015
82 0,82 8,2 0,0082 0,082
39 0,39 3,9 0,0039 0,039
46 0,46 4,6 0,0046 0,046
X 0,0001 0,01 0,1 0,001
43 0,0043 0,43 4,3 0,043
38 0,0038 0,38 3,8 0,038
28 0,0028 0,28 2,8 0,028
88 0,0088 0,88 8,8 0,088
82 0,0082 0,82 8,2 0,082
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